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The growth of the growths — PHITI ODITIA

OVERVIEW

The Xmx cites a mwn that regarding 22v if one planted 2v where the seed
decomposes' the new growth is permitted,” however if the original plant remains
(like c:abb:clge)3 then even the 1°917°3 °217°3 are MoX. There is a dispute between >"vA
and NMDOIN as to the meaning of P217° 917

- Y90 10 PYNRI S91T) 13951 DI9ITIT TUN 12 PN 19939 ¥
The X''2°1 explained that 2°%17°3 are the first growth from the seed of »2v which
was planted -

= P91 99119 1NT DI IMIN YV 9N T INNY
And afterwards he replanted those (first) growths; this which grows from the
planting of first growths is 192173 92173 (second growths) and if it is a 723 WA PRW 127, it
is forbidden to eat even these 2°917°3 *217°3.

moDIN proves that 2°917° °17°3 are second growths:
- SP1399 93W WYIUN PV SINVIN ‘onn 0197 515V NN NI

And the X"2>1 brings a proof from the s»b217> 7950, for the "> concludes
there regarding the 7%17°% %1793, that it means when they will be twice

‘threshed’ -
= 0Y9 'NY \D?b” Y9IV NI INMDA NMINYT

This means in this abovementioned manner that it was planted and harvested

two times and each time it was threshed — the m13 1w,

- PYNT 99793 991 991 (0900990 wINaY)
However, according to >"w9p it is all considered as the first growth; not 73
LAl i

" This is the meaning of 193 W1 (as when planting wheat).
? It is permitted to eat them X1y N2°2X even though the original %av (from where these 7217 grew) where already
qwyna 271 (and could not be eaten XY N9°R), nevertheless the 2°717% are permitted to eaten XY N?°2X provided it
is a plant which 7793 157
® This is called 793 W11 TX.
49" "> N (in our 2,97 77 "¥2W1). It states there that until M7 WHW it is M0OKR. "V,
> The 77 is the threshing floor where the grain was gathered after it was harvested, to thresh it and remove the grain
from the husks. It refers here to a completed harvest by other produce such as cabbage and onions,
8 xmn 91 7"73 "W states; 91T M APRA PR DWIAT 0T DONWRIA PRV PN DI 212 PN NI XY 1P
2177, The 09173 are the initial cabbage leaves which grew bigger (through the planting) and the 2°717% 117 are
the additional leaves that are added through the planting. n©own argues that the additional leaves cannot be
considered 12173 *717 for it is the first (new) growth from the original cabbage. See ‘Thinking it over’# 1.
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mooIn cites and questions an additional >"wA5:
=997 YIYN KXY DY IYITY 927 M1 PIYT 70‘!\731‘,711 v99Y N1

And that which "2 explains that garlic is something which is 7795 1715 it does
not seem that it is so -

1099820 DIV 915N 759 IPAT PRY 937 1N (1 mwn 7O D993 13N NN NIDNAT
For we learnt in a /mw» in 'v 99 of N0 noon, ‘what is something which is

795 W71 1N; the 77% and garlic, and onions’. The muwn clearly states that 2w is W7 PX
1193, contradicting >"wAD.

SUMMARY
12173 02177 means what grew after a second planting. 0w is considered 1717 W17 PX.

THINKING IT OVER
1. Moo asks his first question on "o after he cites the *n5w17.° Is the question
on "1 based on the n?w1, or is it a question even without the *n5w1°?

2. Is the second question'’ of mooIN on *"w5 connected to the first question?

3. Can we differentiate between 1w nMy2¥ (which *"w1 says is 192 w1r) and Pow
(which the 71wn states is 7792 W77 PR)?

TaRm 772 2" states; 1 NIWDX N YN 1A 79 WITW 1272 190K, See “Thinking it over’ # 2.
¥ See Yxw> NN on the TIwn that M¥ is a type of onion.
? See footnote # 6.
1 See footnote # 7.
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